
Y2 – Autumn – Block 2 – Step 4 – Related facts Answers

Question Answer
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Both models have 3 and 5 making 8, but the first model uses ones and the second model 
uses tens.

2
a) 5
b) 50

3

a) 1 + 2 = 3
10 + 20 = 30

b) 7 + 2 = 9
70 + 20 = 90

c) 4 + 6 = 10
40 + 60 = 100

d) 1 + 8 = 9
80 + 10 = 90

e) 3 + 4 = 7
30 + 40 = 70

f) 8 + 0 = 8
0 + 80 = 80

4

5

a) 5 – 3 = 2
50 – 30 = 20

b) 7 – 1 = 6
70 – 10 = 60

c) 10 – 6 = 4
100 – 60 = 40

6
No. 
30 + 10 is 3 tens + 1 ten = 4 tens, so 30 + 10 = 40

8

60


